CHANGE ORDER (CO) NO. __001

PROJECT:	WW1801E - Annual Sanitary Sewer Rehabilitation Project			
OWNER:	City of League City			
ENGINEER:	ARKK Engineers			
CONTRACTOR:	King Solutions			
You are directed to ma	ke the following changes in the C	ontract:		
DESCRIPTION AND I	REASON FOR THIS CO:			
This work change orde additional scope. The s	r is done to increase the construct cope increase is to repair a few an	tion conti eas in ne	ract for King Solutions by \$99,356.40 to cover ed of emergency repair.	
DESCRIBE CONTRA	CT PRICE (INCREASE/DECRE	ASE) CI	IANGE FOR THIS CO:	
Increase the contract b	y \$99,356.40			
ATTACHMENTS: Co	st proposals			
	CHANGES IN CO	NTRACT	PRICE	
ORIGINAL CONTRA	CT PRICE:	\$	1,216,555.00	
NET CHANGES FRO		\$	0.00	
CHANGE BY THIS CONTRACT PRICE V	O: WITH ALL APPROVED CO:	\$	99,356.40 1,315,911.40	
,				
RECOMMENDED BY	: Allan Negrete, King So	lutions	DATE: 8. 16. 2022	
RECOMMENDED BY	Anthony Talluto, Project	ct Manage	DATE:	
OWNER APPROVAL	BY: John Baumgartner, City M	lanager	DATE:	

Proposal

Project Name



Location 2704 W NASA RD Job No. **Owner Information Contractor Information** King Solution Services, LLC Owner Information CITY OF LEAGUE CITY Company Name ARNULFO SANCHEZ Name MARIO JAIMES City, State ZIP Address 13221 Chrisman Rd LEAGUE CITY, 77573 City, State ZIP Houston, TX 77039 Phone 281-554-1090 **Email** arnulfo.sanchezjr@leaguecitytx.gov Phone 832-812-4820 Email Kingsolutionservices@yahoo.com TIN HORN FAILURE 2704 W NASA Project name Completion date RD **Scope of Work** SLIP LINE EXISTING 5' DIAMETER METAL PIPE AND GROUT ANNULAR SPACE **Company Proposal** KING SOLUTION SERVICES, LLC herein proposes to furnish all labor, equipment, and services for accomplishing the referenced task. 7/25/2022 Submitted by (Company Representative) **Engineer Acceptance Signature Date Owner Acceptance Signature Date**

TIN HORN FAILURE 2704 W NASA RD

Cost Breakdown

		Estimated		
Description	Unit	Quantity	Price	Total
MOBILIZATION	LS	1	\$5,500.00	\$5,500.00
SLIP LINE EXISTING 5' DIA. METAL PIPE WITH 54 INCH HOBAS PIPE	LS	1	\$22,750.00	\$22,750.00
BACKFILL AND SITE RESTOATION	LS	1	\$1,500.00	\$1,500.00
		Estimated		
Description-Alternate Bid Item	Unit	Quantity	Price	Total
GROUTING OF ANNULAR SPACE	LS	20	\$164.00	\$3,280.00
		Total		\$33,030,0

Proposal



Project Name	GENCO CANAL		
Location	GENCO CANAL		
Job No.			
Owner Information		Contractor Inform	nation
Owner Information	CITY OF LEAGUE CITY	Company	King Solution Services, LLC
Name	ARNULFO SANCHEZ	Name	MARIO JAIMES
City, State ZIP	LEAGUE CITY, 77573	Address	13221 Chrisman Rd
Phone	281-554-1090	City, State ZIP	Houston, TX 77039
Email	arnulfo.sanchezjr@leaguecitytx.gov	Phone	832-812-4820
		Email	Kingsolutionservices@yahoo.com
Project name	GENCO CANAL(2 LOCATIONS)	Completion date	
Scope of Work			
MANHOLE INSTALLA	TION AND REMOVAL AND REPLACEME	NT OF OF 48" RCP PIF	PE
Company Proposal			
KING SOLUTION SER task.	RVICES, LLC herein proposes to furnish al	l labor, equipment, and	services for accomplishing the referenced
Allan Noasa	nta.	7/25/2022	
Allan Negro	any Representative)	Date	
Engineer Acceptan	CO		
Signature		Date	
Owner Acceptance			
Signature		Date	

Cost Breakdown

MANHOLE 1				
		Estimated		
Description	Unit	Quantity	Price	Total
MOBILIZATION	LS	1	\$7,150.00	\$7,150.00
REMOVAL AND REPLACEMENT OF 48" INCH RCP WITH 48" I.D. CORRUGATED HDPE PIPE, INCLUDING INSTALLATION OF TIMBER BENT	LF	50	\$480.00	\$24,000.00
5' DIA PRECAST STORM DRAIN BOX & INLET	EA	1	\$21,640.00	\$21,640.00
CONCRETE SURFACE INSTALLATION WITH SWALE GRADE AROUND THE MANHOLE	EA	1	\$3,500.00	\$3,500.00
BACKFILL AND SLOPE GRADING AT MANHOLE	LS	1	\$1,750.00	\$1,750.00

Total \$58,040.00

MANHOLE 2

Description	Unit	Quantity	Price	Total
REMOVAL AND REPLACEMENT OF 36 INCH RCP WITH 48" I.D. CORRUGATED HDPE PIPE, INCLUDING INSTALLATION OF TIMBER BENT	LF	50	\$480.00	\$24,000.00
REMOVAL AND REPLACEMENT OF EXISTING MANHOLE WITH 5' DIA PRECAST STORM DRAIN BOX & INLET,	EA	1	\$21,640.00	\$21,640.00
CONCRETE SURFACE INSTALLATION WITH SWALE GRADE AROUND THE MANHOLE	EA	1	\$3,500.00	\$3,500.00
BACKFILL AND SLOPE GRADING AT MANHOLE	LS	1	\$1,750.00	\$1,750.00

Total \$50,890.00

Total Manhole 1 & 2 \$108,930.00

Proposal

Project Name

League St Sanitary Sewer Rehab



Location	League St and Highway 3		
Job No.			
Owner Information	n	Contractor Inform	nation
Owner Information	CITY OF LEAGUE CITY	Company	King Solution Services, LLC
Name	ROBERT TAYLOR	Name	Allan Negrete
City, State ZIP	LEAGUE CITY, 77573	Address	13221 Chrisman Rd
Phone	281-554-1392	City, State ZIP	Houston, TX 77039
Email	Robert.taylor@leaguecitytx.gov	Phone	832-812-4820
		Email	Kingsolutionservices@yahoo.com
Project name	League St sanitary sewer rahab	Completion date	
Scope of Work			
Rehab existing sanita	ary sewer line by open-cut		
Company Proposa	ı		
KING SOLUTION SE task.	RVICES, LLC herein proposes to furnish	all labor, equipment, and	services for accomplishing the referenced
Allan Nega	rata	7/25/2022	
	pany Representative)	Date	
Engineer Accepta	nce		
		_	
Signature		Date	
Owner Acceptanc	8		
Signature			
Signature		Date	

Cost Breakdown

Providen	11.24	Estimated	Delta	T
Description	Unit	Quantity	Price	Total
Mobilization	LS	1	\$1,500.00	\$1,500.00
Open-Cut existing 8" sanitary sewer with 8" PVC (SDR-26) or HDPE all depths, complete in place the sum of:	LF	150	\$85.00	\$12,750.00
End of the line cleanout, complete in place, the sum of:	EA	1	\$1,050.00	\$1,050.00
Abandonment of existing 8" main line at sanitary sewer manhole, complete in place, the sum of:	EA	2	\$400.00	\$800.00
Connect new 8" sanitary sewer main to exisiting manhole, complete in place, the sum of:	EA	1	\$650.00	\$650.00
Remove & replace exist. asphalt pavement, complete in place the sum of:	SY	50	\$75.00	\$3,750.00

Total

\$20,500.00